Exam Two Summary

Low: 52
High: 100
Avg: 77

There won’t be a curve
this time since the
majority of the class did
well on the exam (see
bar graph below).
Attendance may be a
factor for those who
scored poorly.

ID

*5 148010
850012832
850015571
850083365
850084488
850089251
850091879
850093173
850095142
850096692
850099732
850103868
850108093
850109019
850114585
850114874
850118366
850119954
850127682
850128057
850130261
850130428
850130558
850130562
850131273
850131289
850131571
850131641
850131716
850131869
850132933
850133386
850133466
850133703
850133971
850134107
850134718
850134956
850135030
850135090
850135219
850135303
850135446
850135773
850135975
850136184
850136439
850136460
850137945
850137975
850138178
850138410
850138910
850138982

Student"s tests sorted by id number

GRADE

84
78
68
88
72
84
66
92
84
94
72
84
92
72
62
78
56
86
72
70
76
100
90
74
88
84
60
70
66
64
78
90
52
54
66
90
76
72
90
76
82
82
80
80
78
62
92
66
66
92
58
70
92
80



Student"s tests sorted by id number

ID GRADE
850139243 90
850139414 70
850139590 94
850140191 56
850141412 58
850141441 60
850142914 60
850142961 86
850143892 66
850143960 92
850145136 92
850145350 64
850146320 86
850146391 78
850146640 80
850146846 80
850147593 84
850147793 78
850147875 74
850148020 82
850148672 82
850149440 78
850149901 88
850149918 84
850152296 72
850152653 72
850152744 78
850153624 82
850161608 92
850161633 74
850164555 84
850173139 76

850184041 68
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Frequency Plot of student®s grades
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